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20233 HAE SESSAH H2X FOIEE NS0 AN B2

kH

+ o 9 = No&s o =
20235 A & e | 20283 E | = oron 20233 H o & | 202831HQE | — ovon
3 = | onzz oaw | T nan gaw | TS| S4ER 3 = | oxzzr oae | 7O ynax gaw [ TEH] SAS
(A) (%) (B) (%) (A_B) (A) (%) (B) (%) (A_ )
s=349 108,091,180 | 97.6| 108,001,180 | 98.3 ea 58,425,804 | 52.8 58,404,804 | 53.1 21,000
EEIEBEE
ey - - - - - lzere 2w 19,517,414 | 17.6 19,643,414 | 17.9| 126,000
Ty
mESHPYY - - - - o YT 23,596,189 | 21.3 23,478,007 | 21.4 118,002
]9 29 2.376,477 | 2.1 1,556,534 | 1.4 819,043 [ms2bI2 260,500 | 0.2 260,500 | 0.2 -
= AF _
IZE,“ED'EW“ - - - - - |&&2 - - 4,206,855 3.8 | ~4,206,855
Ty
R TLAF [ 2F
QSR 0= 3| 0.0 3| 0.0 ~ louwinl 65,410 | 0.1 51,704 | 0.0 13,706
T g
) SXrelIIEr
oc g ol — — — — — —_ _ _ _ —
DRI AN
IEEH 9 - - - - - ;Ig““”" 8,881,505 | 8.0 3.881,505 | 35| 5,000,000
e - - - - -
DESY A - - - - _
s 110,467,660 | 99.7 | 109,647,717 | 99.7 819,043 || & A 110,746,822 | 100.0 109,926,879 | 100.0 819,043
DAL & DI oo - - - - ]
e 279,162 | 0.3 279,162 | 0.3 e
EPTr EETTY
AR 110,746,822 | 100.0 | 109,926,879 | 100.0 819,943 |3 5 1 =N 110,746,822 | 100.0 | 109,926,879 | 100.0 819,943
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A = 0O & A

(2023 038 01LRH 20243 028 292 tXl)

1. ¢ (Etel: el
o = 20233/ S1 = | 2023301 = Aol
- - — 2XE ol | 1R oo | OO EE 2
2 g = (A) (8)
5100 SSE==¢¥ 108,091,180 108,091,180 -
5110 S=E==¥ 108,091,180 108,091,180 -
5111 - - -
sSFgsas
g -
5112 688,220 688,220 -
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE SA 18Xt 620,000 x42H 26,040,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR A AL 181Xt 620,000 %108 66,960,000
— Alstiista HAH 15X 620,000 %2918 180,420,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASIISE A 188X} 620,0003«17E 10,540,000
— WSt A 15X 620,000 *783 48,360,000
— WSS A 35X 620,000 *1H 620,000
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@stesoz
— 2N S=3
—TeiHY S=23
—HSHE S=3

4
[ e e

SANIA FE>

'9,996"H 34,984,494,000&
'6,984"H 29,340,142,000&
"1,632°H 6,754,242,000&

34,984,494,000
29,340,142,000
6,754,242,000

= 202331 HE | 20233 H T =
— ORI GlAF | 1XIEY ol A < AEDN 2
= g = (A) (8)

— 2A=XIER AAF 1555 620,0002 %382 23,560,000
— A ERR A AR 18X 620,0003 %1559 96,100,000 &
— AFCHTHBIR A A} 28H R} 620,000 *4 S 2,480,000 &
— AEHOH SR A AL 38HXF 620,000 *2H 1,240,000 &
— 23502 HE R A AF 185 R} 620,00090 %41 05,420,000 ¢
— 230l=0std S A 1S 620,000 *x12H 7,440,000 &

® §&tel 28t)| Qlata
—JESNNIUSA &AF 28K} 620,000 +1H 620,000 &
—JSDHE20EY AAF 35X 620,0009 %1 620,000 &
—J|ESnNHIUsHA BEAF 18X} 830,000 x12H 9,960,000 &
— S DHES0EY AL 25H X} 830,000 %2 1,660,000 ¢
—J|ESNNMIsHA BEAF 38R} 830,000 +1H 830,000 &
— S DHES0EY AL 65X 830,000 %3 2,490,000 &
—JISUNMIOERA A8AF 1 X 830,000& 3 2,490,000 &
—JEDHSYEY A BEAF 68X 830,000 1 2 830,000 2
— UBHEHRA A AF 18X 620,000 100" 62,000,000 &
— AIBHIHBIRl A AL 28H R} 620,000 %59 3,100,000 &
— ASHHEHR A AL 38HXF 620,000 *1H 620,000 &
— AIBHIHEIRl A A} 4BH X} 620,000 3 1,860,000 ¥
—BASX USSR SAF 13X 620,000& *5H 3,100,000 &
— AFCHTHBIRl A AL 28H R} 620,000 4 2,480,000 &
— ALEHOH SR A AL 38HXF 620,000 *1H 620,000 &
— AFITHENR A A} 58X} 620,000 %2 1,240,000 ¢
— 230l=Ustd A AF 28X 620,000& x4 H 2,480,000 &
B 688,220,000 &

1 87,986,360 87,986,360
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o = 20235/ AT | 20233 ¢S = 1>
- : 2RE oot | 1XIR olgro | T NEED 29
< g = (A) (8)

—dsHEg == 2 '8,671°H 16,702,192,000& 16,702,192,000
© R29E HEANSHE 2

— MBta)| =g 000&+111&r &8 9,990,000
— SEts)| =¢ 000&*100r & 9,000,000
© HESI 2

—otAHHESI| =82 90,000&+970&HH 87,300,000
—SHAHZESI == 90,000&*1,100&H 99,000,000

8| 87,986,360,000
5114 19,416,600 19,416,600
FEEP=L < HISAE S=3 QMA BE>

—JISuNM2OER SAH 1t 3,770,000&+42H 158,340,000
—JIsuNd20He3 A 288Xt 3,670,000 %2H 7,340,000
—JISuM2O0eR AL 28Xt 3,670,000& 1 3,670,000
—JlsnNd=20srd A 38X} 3,670,000&*39H 143,130,000
—JISuMd20e@ A 3=t 3,670,000& 1 3,670,000
—JIsuNd20sr3 SAF 38Xt 3,670,000 *1H 3,670,000
—JI=sSuMd2OeR A48t 3,680,000& 52 18,400,000
—JISWM2OER BFAH 18X 4,550,000&+92H 418,600,000
—JI=SWNMZOER BFAL 288Xt 4,432,000&+20H 88,640,000
—JIsnNdZ0sr3 BFAF 38X} 4,432,000&*73H 323,536,000
—JI=SuM2Oe AL 38kt 4,432,000& 6L 26,592,000
—JIsuNdZHE3 AL 488Xt 4,440,000 x9H 39,960,000
—JI=SWNM2OER AL 481Xt 4,440,000& 1 4,440,000
—JI=SWM2UER BFAL 58X} 4,440,0003+67H 297,480,000
—JI=SuMZOE AL 688Xt 4,363,000&+21H 91,623,000
—JISuNMEUSA HAEAL 188Xt 4,550,000 +56F 22,750,000
—JIsuNdZO A HA8AL 288Xt 4,432,0003 #2H 8,864,000
—JISWNMEUSA HEAL 388Xt 4,432,000 «3YH 13,296,000
—JI=SUHZUER HETAL 48X} 4,440,000 «6H 26,640,000
—JISWNMEUSR HEAL 58Xt 4,440,000 x4 FH 17,760,000
—JISuUNMFHSIR AETAL 65X 4,363,000 «3H 13,089,000
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StAt 4,363,000&x15H
St SEES
X+ 5,200,000& %1082
Zt 5,200,000& %9

X+ 4,050,000& %2912
Zt 3,945,000 3

Xt 3,945,000 6

Xt 3,945,000 %280
X+ 3,945,000 6

Zt 3,965,000 22X
Xt 3,965,000& 3

Xt 3,965,000 %270
3,896,000 22
Bt

4,500,000& 17X
4,317,000& 14
4,317,000& 17X
4,337,000&*16H

S EZ=
S

(=R ]

,500,000&+78H
17,0002 +3H
317 000&+664H
317,000 +1H
,337,000& 29
,337,000& 64

Zt 4,500,000 x38H
b 4,381,000& 74
t 4,381,000 *36F
Xt 4,440,000 x5
b 4,440,000& 429
,500,000&+155¢
,381,0002 64

—l——v——l——v——l——v——l——l——l——l——l——l—

QI_I

o o Jor o Jor |
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65,445,000
4,267,000
561,600,000
46,800,000
1,178,550,000
11,835,000
23,670,000
1,104,600,000
23,670,000
87,230,000
11,895,000
1,070,550,000
85,712,000
7,034,000
76,500,000
4,317,000
73,389,000
69,392,000
2,116,000
351,000,000
12,951,000
284,922,000
4,317,000
8,674,000
277,568,000
171,000,000
30,667,000
157,716,000
22,000,000
184,800,000
697,500,000
26,286,000




o = 2028BHSE | 20288 HE | - .o
o= oot | 1xE oaon | SA3 R 2o
% 2t s ) 8) )

— AEHHSHR A AL 28X 4,381,000 %4H 17,524,000 &
— MEHEHR A AF 38X 4,381,000 %1389 604,578,000 &
— AEFHSHR A AL 3SEXF 4,381,000 %2H 8,762,000 &
— MEHEHR A AL 45X} 4,440,0003+18H 79,200,000 &
— AEHfSER A A} 5EFX) 4,440,0003 %129 567,600,000 &
— E30 =& &AAF 18R} 5,500,000 %x41H 225,500,000 &
— 230 =& A AF 18X 4,500,000&%12H 54,000,000 &
— 230 =S &AF 38R} 5,337,000 x42H 224,154,000 &
— 230 =& A AF 38X} 4,325,000 x3H 12,975,000 &
— 230 =S A A 48R} 5,357,000 +x9H 48,213,000 &
— 230 =& M AF 58X 5,357,000 x32H 171,424,000 &
— 230 =S S A BSER}F 4,344,0008 x3H 13,032,000 &
® &t 28t =2
—JISHNNMISHSHA A AF 28X 3,770,000& x40H 150,800,000 &
—JIESndESsHa A A 28Xt 3,770,000 «1H 3,770,000 &
—JESNNIUsH AAF 38X} 3,670,000 +7H 25,690,000 &
—JSnNEIUSHA AAF 38X 3,670,000 +1H 3,670,000 &
—JISHNNMEHSHA A AF 48X 3,670,000 *x35H 128,450,000 &
—JSDNEIOSHA B8FAF 18X} 4,550,000 %x12H 54,600,000 &
— ) SWHMEHSHA BFAF 28HX1 4,550,000&x72H 327,600,000 &
—JISnNNdISOsH BEAF 28Xt 4,550,000 x2H 9,100,000 &
— J)ISWHMEHSHA BFAF 38X 4,432,000& 19X 84,208,000 &
—JSHNNIOSH BHAF 38X} 4,432,000 +1H 4,432,000 &
— J)ISWHMEHSHA BEAF 48X 4,432,000& x67H 296,944,000 &
—JSHNNEIOSHA BHAF 58X} 4,440,000 «8H 35,520,000 &
— J)ISWHMEHSHA BFAF 68HRI 4,440,000& x49H 217,560,000 &
—JSDNHIOSHA ABFAF 1&XF 4,550,000 +3H 13,650,000 &
—J=snNdEZ0stal AB8tAL 2SHX} 4,550,000 +x6H 27,300,000 &
—JSDNHIOSHA ABFAF 38X 4,432,000 +«4H 17,728,000 &
— ) SWHMEBHSHA HBEAF 48X 4,432,000 x4H 17,728,000 &
—JSDNHEIOSHA ABFAF 58X} 4,440,000 «4H 17,760,000 &
— JISWHMBHSHA HBEAF 68HRF 4,440,000 x5H 22,200,000 &
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52l A BEAL 63t Xt 4,440,00021%1Y
52l ABtAL 73Xt 4,363,000 %59
52l ABEAL 85¢R} 4,363,00021%10Y
A 185} 5,200,00021%100%

A 28t %} 5,200,00021 %1002
At 48¢%t 5,200,00021+8%

| 28t %t 4,050,00081%299%

| 258t %t 4,050,0002%5%

| 381Xt 3,945,00081%20%
A Ab 38¢R} 3,945,00020%1 9

| 431Xt 3,945,00081%271

| 4513t 3,945,0008+3%

| 58t Xt 3,965,0008%15%

| 65t Xt 3,965,0008%220%
NESUEE-EE

2 A AF 28H %} 4,500,000 17
2l 44 AF 38ERt 4,317,000 1
2 AR 48ER} 4,317,0002 %162
2 MAF 5L} SRS =

A 28¢5} 4,500,00021 %70

A 38tZt 4,317,00021%79
AL 43¢5} 4,317,000 259
A Ab 53R} 4,337,00021 4%

| 58tR BHES S

2 S AF 181X 4,500,000 %5
2 A AF 28t %} 4,500,000 +37
2l S AF 38EX} 4,381,000 %5
2 S AF 481} 4,381,000 +35%
2l S AF 5Lt 4,400,000 %3
A 28Xt 4,500,00021 %1409
A 28Xt 4,500,0009 4%

A 38¢%t 4,381,00091%1Y

4,440,000
21,815,000
43,630,000

520,000,000
520,000,000
41,600,000

,210,950,000

20,250,000
78,900,000
3,945,000

,069,095,000

11,835,000
59,475,000
872,300,000
8,294,000
76,500,000
4,317,000
69,072,000
2,616,000
315,000,000
30,219,000
254,703,000
17,348,000
2,132,000
22,500,000
166,500,000
21,905,000
163,335,000
13,200,000
630,000,000
18,000,000
4,381,000




o = 202331 H O | 20233 = A 101
- — = OXIEZ O M | 1XHET Ol At ey MEDA =
= e = (A) (B)
— ATSHTHEt R A AN 38R} 4,381,0008 *1 & 4,381,000 &
— ATEHTHEIRl A AL 45HE} 4,381,0008 %130 569,530,000 &
— ATEHTHEHR A AP 55EE} 4,400,0008 *23% 101,200,000 &
— AEHTIEHR A AP 55HE} 4,400,000 x2 8,800,000
— METHEtR MAF5EE SR SE 1,063,000 &
—2510 SR AAF 28X 5,500,000 *39 214,500,000 &
—251 0 SR A AP 28H X} 4,500,000 8 *8L 36,000,000 &
—251 0l SEHR A AF 28X 5,500,0008 x4 22,000,000 &
—2510 SR A A 38Rt 4,325,0008 x2 8,650,000 &
—251 0SSR AAF 48X} 5,337,0008 %27 144,099,000 &
—251 0SSR AAF48E R 4,325,0008 x4 X 17,300,000 &
—251 0 S0ER AAF 58X 5,357,0008 5 26,785,000
® OIstel HESI| 2268 42
—35%90,0002 *32 F*2 & )| 18,900,000 &
83H:|  19,416,600,000 &
5120 £ 2242 - - - -
5121 - - -
EPJEIT]
S: - 9
5200 MU LI £l - - - -
5210 M =24¢l - - - -
5216 - - -
DAY
- -«
5400 D942 2,376,477 1,556,534 819,943
5410 BIZ20/Xt%2 89,454 41,434 48,020
5411 89,454 41,434 48,020
WELIBA ® 020l Xt
— 012 0l X 28,000,000 28,000,000 &
® O&te 0 201X 13,434,000 &
m A SIS=25H L8 H20IK 2% =& 40,000,000
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= 20233 HHE 20233 HHE =
PHEZ Mool | 1x=D aros | S HEa 2o
@ 2t s ) 8) (
m SI/E=2X (HSFASE2 5| H LeAL(HSASE
—0l 20l X} 8,000,000 8,000,000 &
m (st st e SE23H A4 ELPSINEEI] 20,000 &
2[5 89,454,000 #
5420 J|Et W = 2| %= ¢! 2,287,023 1,515,100 771,923 2,287,023,000
5421 2,287,023 1,515,100 771,923
£ 4=2| C) & 4=2l
- 21'1,510,000,000& 1,510,000,000 &
® cﬂf%/\H\‘lHlA
— %E%/\H\‘ltﬂ* 100,000 100,000 &
® 2222 2 £=¢ 5,000, OOOOJ 5,000,000 &
m A|E22| X CHEFSE23H A1-1-2 &SI HIHA R
—20213| HAET AEIHA EX 9 XFE& NP BSE 771,923,000 &
gl 2,287,023,000 &
1300 0 & XFAHOH 2= 3 3 =
1310 S & D& KA 2= 2! 3 3 =
1311 & K| 0 2HCH - - - 2[5 - &
1312 HS0H20H - gl - &
1314 1 1 -
JIHI DI 2 0H2HCH ® W=2=X 1,000 1,000 &
gl 1,000 &
1315 1 1 -
D" S 002 CH ® U=2=X 1,000 1,000 &
gl 1,000 &
1316 1 1 -
XS e300 20 ® W=EX 1,000 1,000 &
sl 1,000 &

11/106




o = 20233/ MM E | 20233/H S —
2XHEY OlAFH [ 1R=H oAt Soco = =
2 g = A) () G
1317 - - -
S AIOH2ETH
BHAI: - g
NIEEEEE 110,467,660 | 109,647,717 819,943
INEINEREIE 279,162 279,162 -
1100 )| ZS S KHAF 43,225,045 43,025,245 -
1110 42,258,456 42,258,456 -
= @ MR WS S=2237 0IAZ0 22 SEN2 14 34,440,462,000 &
@ HSAERH HSAS=23H DIME0IERN2 RS 7,817,994,000 &
B3:| 42,258,456,000 &
1120 966,789 966,789 -
@ WM2H WSt S223|2 0IAZ0/ZE X2 JIEISS A 963,399,000 &
@ HSAZLH HSASZ25|H 0IALZ0IR N2 JIE 3,390,000 &
JIEFR S XA
BHI: 966,789,000 &
2100 JI XSS 42,946,083 42,946,083 -
2120 69,935 69,935 -
Ol =2 @ WX WS S=23|H DIA20/EX2 ML= 17 - 65,483,000 2
@ HSAZ2H HSASZ23|H 0IALZ0I -2 0 4,452,000 o
BHI: 69,935,000 &
2130 41,816,213 41,816,213 -
pN= @ U2H HSS=23H DIAMB0EX2 842 1xF{ 34,157,573,000 &
@ HSAERH SFAS=23H DIAME0IEX2 82 7,658,640,000 &
813 41,816,213,000 &
2140 1,059,935 1,059,935 -
JIE RS @ WA HES223|H 0IAM20/EX2 JIEISS SIS 1,059,935,000 &
83H:  1,059,935,000 &
NEEXEXE] 110,746,822 | 109,926,879 819,943
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A= O & A

(20234 03& 01L2E 2024E 028 292 NtXI)

(Bl &)
o = 20233 [ 20233 & = A tou ]
— OXFEZ O A | 1XIZZ O At T AE2H 2o
g = (A) (B)
58,425,804 58,404,804 21,000
4110 DB 44,412,565 44,391,565 21,000
4111 04,474,727 04,474,727 -
DAZ0 < MBUE AHHIGMA BE>
@IEAZ X
—DZ 0 24,474,727,000 04,474,727,000 &
S 24,474,727,000 2
4112 1,663,918 1,663,918 -
DAANAD < MBUE AHHIGMA BE>
@IEAZ X
—DANZ 1,663,918,000 1,663,918,000 ¥
B 1,663,918,000 &
4113 10,957,324 10,957,324 -
DAAELY <% MEUE QHHIGMA BE>
® LIS 2 A}
— AFBHEFD| 32%100,000 972 2,100,000 &
® DR
— HUDAE VLA 35,0008 «330 A1 2% 15Z %254 346,500,000 &
— EZNAEVLALZ 35,0008 «280AI 2% 15Z= %254 294,000,000 &
— AXHE 202 56,0002 +640A| 25T %25t 1,075,200,000 &
— =] 50,0002 60% 157 %254 )| 90,000,000 #
— HEE| LAR MU 45 000250 Al 2155408 67,500,000 &
— HEEI| AR 2 56,0002 #3Al 2x15F 28] 5,040,000 &
OIMESEIp =
—NZAAZ 350,000%2 700,000 &
—LHEALAFE 200,000%10 2,000,000 &
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m =

S
Iz
0
Sl
ol

00

o = 202331 AT | 20233 HQic
- OXFEZ Ol ALY | 1XIZ=Z Ofl At NEED 2 o

= 2 = (A) (B)
O Al AF=22,000,000+7 14,000,000 2
@D T A
—S DT A 500,000%20 10,000,000 &
@DEAZHNZ
— AR 8,952,744,000 8,952,744,000 2
© AL
—S2 A EHRI A DE IF Al AR 1,000,000+8% 8,000,000 ¢
© NEUCIMES L A2
—DRQIMEIE L A2 1,000,000 +82103] 80,000,000 &
® HEHe HESD| AR
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— 2L AFAIHI 402%10,000 400,000 &
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—SHAZX DNU2S2Y AE0I2 L FHIHHS 80+ 8,400,000 &
@ et sty A S=233H B7-2-2 [HsH o1 ¢
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@FOHOIA M DS
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© WHEATHDE 2UYBIEE
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— =32 AL HEH 2,000,000%28 )] 4,000,000 ¢
® SU2AF X2
Srol= Ab X 2IH] 300,0002 %1582+ )| 9,000,000 ¥
— W24 XK 300,0008 #2357 600,000
® e sty et S=235]H Di-2-1 =098
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W AFS| = AMAIE (8IS =25 H C2-2-2 K| AHS| = AL
—O{H10l'e AN XI”H| 5,000,000 5,000,000 &
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— Z2HI% 4,000,000 *33] 12,000,000 &
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— GIHI 2K 32 2023 H|: 13]%300,000 300,000 €
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—$ R EAF 24 300,000 300,000 &
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—=2 £12 50,0002 4% 200,000 &
—AAIX AYO ME2 ETH20,0008%1008 2,000,000 &
—22AE ET 8,000 %508 400,000 &
—OlL DS HM=E 1,500 %300 450,000 &
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- HA=XNEHZ 300,0003 228 600,000 &
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—S2HIYEH0IEH| 63%200,000 1,200,000 &
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—:t#tn 4A1%784x50,000! 1,400,000 &
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® THSEAN 854 23H]| 9,7002%12A] 2+ 6,984,000 ¢
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@ SHA{MBIAICIMIE] [HBIS = 23| B5-2-2 HEES;
—EAMY L FAHY AAME Ol 22 - ~2,700,000 2
@ OIBME (St = =237 B5-2-2 ASHAIE Bo| 29,
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® YL DA 2 15,000,000 15,000,000 &
® NSHQ DK A B2
— WLt )| RelH| 5,000,0009 100K 50,000,000 &
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— 2UA S8 3,500R%13,0002 45,500,000 &
—2QI M SHEE 5002 +40,0008 20,000,000 &
—HIS A, S8 110E%13,0002 1,430,000 &
—2YE KR 25,0305 13,2002 330,396,000 2
—2UHH LB 31Z+100,0008 3,100,000 &
—2Q B ME 6Z+200,0002 1,200,000 &
—FMAHE&3H=DB 9Z+21,188,0008 190,692,000 &
—0l2Y 3Z#14,400,000 43,200,000 &
® EHBNE) AR
—Chsi= 2P A 4002 *2,50008 10,000,000 &
—CHai= 2QIAl 800A*40,750 32,600,000 &
—HMAKE 14513,382,0002 187,348,000 &
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o = 20233 91T | 20233 AT = oo
— OXFEZ O AMY | 1XRIZZ O AtY T =
= g = (A) (B)
B 865,466,000
1 — — —
HERARSIY
B - 9
400,000 400,000 -
HAIHE ® IS myst
ZTAF =S ZALEE 400,000,0009 13 400,000,000 &
B 400,000,000 &
1320 28 D& KA =] - - -
1321 98 D& AHAE - - - B - o
2100 S S 24 & - - -
2110 & - — —
ERERE - - - BHAI: - o
2200 D& S Al st - - -
2210 & = - -
=N
B - 9
2200 JIEf L _ _ _
EE=E i i i
Bl - 9
SR 0f A&t
B - 9
I = 110,746,822 109,926,879 819,943 =
NS SNERE - - -
1100 J| = - -
BHAI: -9
JIEFRE XA
BHAI: -9
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[

20233 H A = 20233 H A=

= 2F+O0H
— 2XIZA Olatel | 1XEH oflarod el NEED 2 o
& 2 = (A) (8)
81! - =
81! - =
B RS2
81! - =
110,746,822 109,926,879 819,943
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